4000

3000

2000

1000

1000

2000

Adet (ppb)

H

—

——

——

X2 / ndf

52.41 /56
630.1+ 126.1

1D pull distribution

Mean —0.008108 + 0.127
r Std Dev 0.9589 + 0.08981
12 Underflow 0
r Overflow 0
10+ X2 I ndf 10.31/6
- . Constant 115+22
Mean -0.2102 +0.1389
s
| Sigma 0.868 +0.113
6
4
2 —
L 11l Ll
N 4 vl
-8 ) -4 -2 0 2 4 6 8




Adet RMS (ppm)

(o2} (e} N~ © Lo <

_________________________ ___________LH
3 2 1
(o)) o o (o)) o o o o <2

(wdd) sny

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



T 8 ° ° I 8 5 2
© 0 3 o re) ©
s 3 S R -
g 2os & :
§ 2 & 4 K b
g 3 g & ]
8 S 8 —
S g
, s E
, 3
s B 3
c < m m m E m < g ]
g = ] 5 = 2 & E
ol & 5 & « 8§ 2 & ]
= ]
5
Qo \lVM
5 _ :
= —— —
© ]
= t .
= .
a
o h
- 7
vl b b b b b b by 1y
[ee) © < N o [ce) © < N o
- - - - -
I
L o—e——
~ O
[Tol
4
Qo
<
—
N~
|
——
©
e
N O
o
|
a|l>x<<o
=1
o
N
x
()]
£
Q
o —_——————
_l
(]
2
— e
a
S
9 —_———
o

-

o o
o

imm

Te}

2000
1000
1500
2000



pm4eX RMS (ppm)

corr_Adet b

_
_
o o o o o o
~ © el < ™ I

(wdd) sny

o
—

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



g g w w5 3
S g o M 2 4
s S S & o i
+ + ® 4 Q2 ]
& g & g 2 .
3 >
g 3 3 ]
s 7 ]
vmw € -
» T & B 8 © —
cls & ¥ % ¥ oz 5 E ]
|l 8 5 & =« 8§ = & -
= m
5 =
b L
=
- 4 -
R, — 1 ]
© . -
= T3
p —
o n
i .
PR T RN TR TR TR T N TR S W L L oy T
[Te) o ) =%
N «
[
[<o 2]
n m
o0 (N
S5
-
N~
o
(ee]
|
Y—
©
c
=)
N
o< 9]
(@}
o
N—r
VI
(]
£
Q.
Ko}
_l
(]
2
r_ —_—
S
Q —_———
(&
1 1 1 I I | Ly Ly
o o o o © N T'IDO W T
g g 8§ 8 T4 37s'g



pm4eY RMS (ppm)

corr_Adet b

(wdd) sny

15

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



N1 FETT Fevvvev e rewed IOy

_____
o
=]
<

o o o
o o
™ N

100
-100

-200—

-300—

) v ) ) « 0 T ©
@ < = ~ < 3
g2 5 = 0~ 5 3
S = & H =4 S
° ° - 5 °© H .
+ + @ +H i
g 8 ¥ 3 g ]
S 2 X N ]
S o 8 N -
S ? .
> m 3 € -1
o £ o <] s © —
c|s 8 8 § % ¢ 5 ¢ .
o s B 5 S %« 8 2 & E
= -
m —
= .U
- l
2 : f ]
© L .
= Dy
=] R
o —
o N
- -
PRI NS TR R TN NN T T T S [N T S T W | T | Lo
o [Te} o 1o} o o
™ N N — -
I L
© o -
0 o L
~ 1@
o N .
< +H hd
(o2}
©
N .|“|.
Lo *
L g
|...m —_—
c o
=} -
N
Q=< >
(@R —
— ¢
e —
< A
©
m —
Q. &
o
L - .
o) \ 4
o] ——i
r_ hd L g
—
o °
O \ 4
—
[ EE———
L
— e
@




pm4aX RMS (ppm)

corr_Adet b

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey

Tevey

o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
pO'VVEY
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey

(e} (e} N~ © Lo < ™ N

(wdd) sny

____._||
—



< o o o (3] N < wn
> 3 3 = ] &
Iy by S ~ ] ]
S S 8 H S S
S = 2 & = % i
+ + il H © n
g 8 & g 3 7
3 3 3 S
mo. S e -]
? ° .
= &z £ .
o £ o <] s © —
c ] c S ] S 2 g g b
|2 & 5 &8 = 8 2 & g
= .
hUu —]
= lﬂ
-~ r 4
R = ]
© =
— p
Wn ]
=
(@) =
i .
M| P (T T SR T [N ST SRR S TN NN S S N S MU N S
[Te) o [T) o [T [S)
3 3 = =
[
oM
n o
- <
N~ M
M+_
- ©
Lo
Lo
<
—
©
c
=)
o
—|
aof>< Q]
(@}
o
N—r
VI
©
£
[oX
o]
o
(]
2
r_ —_——
S
o
o
L1 _____________________ uy iy
o o o o o o o o o o NTNOLW TN N
8 8 § 8 ° § 8 g 8 8138787



pm4aY RMS (ppm)

corr_Adet b

LLLLL LTI

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
p v YVEY
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey

n o Lo
< < ™

(wdd) sny

o
™

Te]
N

o
N

[HERRRREN
T}
—

o
—

o]



corr_Adet_bpm1X (ppb)

4000

3000

2000

1000

X2 1 ndf 38.66 / 56
po ~137.1+ 144.8

1000

2000

1D pull distribution

22 Mean -0.01022 +0.1091
[ ] StdDev  0.8235+0.07713
20
: Underflow 0
181~ Overflow 0
B 2
16 X2 I ndf 6.167/5
[ Constant 12826
141
[ Mean 0.07243 + 0.14027
12 - Sigma 0.8769 + 0.1562
10
8 —
6 —
1
ok
Lol b el [
0
-8 -6 -4 -2 0 2 4 6 8




pm1X RMS (ppm)

corr_Adet b

——

_|_.

___
o
™
—

120

(wdd) sy

110

IIRENNE!
o

10

|
o
o

o
[¢0]

o
I~

o
©

o
Te)

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



~ 0 o o ~ < o o
= 5 > < & 5
] S Q < it S
=] S ™ h =3 =]
° + I S °© +H -
+ - > + iy
3 S 8 3 © ]
< n [5<] o n
3 ° g s —
S 2 i
(=] T -
> m 3 € -1
3 T 2 k<] 8 o —
s o] o} b= 5 7] s £ .
c 3 - 2 2 n 5 3 =)
o = ) =] ¢} S o = ] 3
= =
5 —]
b -
R = ]
© . -
=] R
o —]
(@) n
i .
PR T T ST | | Loy 0 1y 0 7
o [Te) [<) 1) o [r3) [S)
® 3 3 — =
[
O O
Lo «—
- <
O N
%+_
— N5
I
(o]
Lo
—
©
c
~
=<3
~|
QO
[oR
o
N—r
VI
i
[oX
o]
ol
(]
2
r_
= —_——
o
o
______ __ _‘..r _ _ iy Ll
o o o o o o o MUOANTOLWN
g 8 § & § § "dd oo



pmlY RMS (ppm)

corr_Adet b

v'esey
€esey
cesey
Tesey
0'ecsey
p S0SEY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
p 0'8YEY
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey

___
To) o Te}
™

(wdd) sny




3 g ° ° 2 & 9 2
3 3 P s X 8
<1 S 2 H S S
S - B -
R & g 3 .
= 9 ] .
3 S S c —
? ? 7
vmw € -1
» T & B 8 © —
c|l§ & ¥ 3 2 ¢ 5 B ]
|l 8 5 & =« 8§ = & -
= ]
5 1
2 L
=
- =
2 —— —]
© . -
= S
o —
o m
— ]
T T TN T N TN ST ST SO AN TN T O O AN SN SO | Ly vy o 7
o [Te) o Te} o [Te] o
[32) N N - -~
! ®
O O
0 o
~uw
—
o+
— ©
— A\
N~
<
o
= ————
©
c
=)
N
al>< o
(@}
o
N—r
X
(o]
—
o
o
_l
[}
2
a
S
o
(&)

1000

-500
1000




pm16X RMS (ppm)

corr_Adet b

__________
o o
~ ©

(wdd) sny

o
n

o
<

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



2 2 ° © ©° 8 3 5
N © > i © ]
Ia. 2 3 N a o
o S 2 + 3 2
+ ° o~ 3 °© +H -
o + > H ~ n
s 8 S F 8 N
] 8 ) 8
s 3 s ©° =]
5
z - ]
3 m m k=1 m ©
c ] c S ] S 2 g E
|2 & 5 &8 = 8 2 &
= A
5 —
2 _ .
=] I .
2 | -
° -
= -
o —
(@)
i
I R R L | L | PR -
~ © © < o~ [S)
i
[
oM
O N
N~ KN
M+_
42 —
@
—
= ——
©
c
=)
o
al>< o
(@}
o
N—r
VI
©
i
[oX
o]
..l_ ———i
(]
©
<
r_ —_———i
= ——
Q —_——
o
——
—_——
——————
———
—
— —
—_———
—_—{)—
———t—
—————
—_——
_______..ll_ﬂﬂ.l__________ __
S 8 8 8 ° 8 8 g Toq
<] © < (3 4_ A_.. c_u " o o'«!




pm16Y RMS (ppm)

corr_Adet b

o Lo o ol o Lo
Lo < < ™ ™ N

(wdd) sny

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



corr_Adet_bpm12X (ppb) 1D pull distribution
- X2 / naf 72.54156 1 M -0.00827 £ 0.1494
4000 — pO —-89.03 + 1374 F R
- I ] StdDev  1.128 +0.1057
8000 :_ 14 __ Underflow 0
2000 :— : ] Overflow 0
= 12k
1000 il - X2/ ndf 10.19/7
- ] ] I T ]- T ]’ T 3 Constant  9.458 % 2.384
0 T Il ! Py 10+
l I ‘ I ‘ l l l l l | l i A Mean  -0.2703 + 0.2219
1000 8 '_ L Sigma 1.158 + 0.312
2000 [
3000 — -
4OOSFIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 4-_
b
O-I Ll | L 11 | 111 | 111 | 1 Ll | L1l
8 6 -4 =2 0 2 4 6 8




pm12X RMS (ppm)

corr_Adet b

(wdd) sy

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



N 0 o o ~ 0 ~ 0
S5 s - & 5
= 3 8 2 * (=)
<] > < + 5 +
H w - © N ~ -
& 0 @ © 5 ]
2 8 - f S ]
? S M -]
> m 3 € -1
- @ = 2 k] 8 < o
c|§ 3 2 & = & § 5
o = 2} =] [¢] =< o = »
=1
5 Z |
b =
s 3]
R ]
° -
= -
o _|
(@)
i
b by b b by by by by b b by by
N o < o~ o 3 © < [S)
N 13 — — =
[
© © ————
O N
~o
N~ M
%+_
< 0
@
(]
(e 0]
——
— —
© ®
c d
- o———
=~ —e—1—
O
hnw.VAp .|00|.
———
= ———
———
> — e
....1/__ ——
—_——
c i P
[oX —
o) —_—
..l_ —_——
D —_—
© @
—
< —
r_ —_—
S
o
o




pm12Y RMS (ppm)

corr_Adet b

_______
Ty) =}
< <

(wdd) sny

Lo
™

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



8000

6000

4000

2000

2000

4000

corr_Adet_bpm11X (p

pb)

X2 7 ndf 46.16 /56

pO -111.8 + 314.8

1D pull distribution

Mean 0.008558 + 0.1192
161~ StdDev  0.8999 +0.08428
L Underflow 0
14
o Overflow 0
12 B X2 / ndf 5.907/6
| Constant 12.36 + 2.61
10+ Mean  -0.07098 +0.13425
B Sigma 0.8882 + 0.1496
8 —
6 —
41
o
0 L1l | Ll | | 111 | 111 | | L1l | 11l
-8 -6 -4 -2 0 2 4 6 8




pm11X RMS (ppm)

corr_Adet b

(wdd) sy

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



N oo o o 0 pnl f=2 o
S ] < s 3 3
23 3 o - 8 8
S =] < Hoo9S 5
S =] e o ]
+ + 3 H ©
< © ~ 2] <
3 8 3 3
~ © ~ <
3 S 3 °
S o
m T
> m 3 €
] <) 2 k=1 8 ©
c g S 3 T = 2 ] E
g 5
|2 & 5 &8 = 8 2 &
=
=}
o)
=
f=1
0
ko] [ —
=
o
o
i
| T TR N T NN TR TR TR T N T T ST S N
) <) ) =)
~ « - =1
I
o
o ®
-~ ©
o —
N 4|
O o
24
(e 0]
—
G—
©
c
=)
N
|
a|l>x<<o
(@}
o
N
VI
—
—
o
o
_l
[}
2
r_ —_——
= ———
Q ———
(&
———
—
———
________________ o] ______________
o o o o o [S) o o o
S =] S <] S S S S
n < @ « = < « @




pm1llY RMS (ppm)

corr_Adet b

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
1 8VEY
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey

_______
Lo
N

(wdd) sny



[S) [S) ) ) ) 0 ~ N
~ 2] ~ o
© ~ 8 N
HooH g 3 S
°© °© 3 H H + ]
wn (2] o ~ -
0 ™ © =} -
~ w3 8 —
=) =) -
. 3 = _ = ]
[ 5] K] 5 8 © —]
g ) 5] £ |5 ] H g
c 3} o B e 5 5] 1= ]
|l & 5 &8 %« 48 = & E
= a
5 —
o B
= =
=
2 =
o oy
= -
o —
o N
- -
| R | PR AN TR T T T AN SR S M | | .
o o o o o o o
© n < o™ N —
I
~ <t
0
-~
O
+l
o
— ey
Y—
© —_—
c
~
*<2
—~
QO
[oR
o
—~
X
£
[oX
o]
ol
(]
©
—_—
<
r_
=
o
(&)




pm8X RMS (ppm)

corr_Adet b

Agactad
pEcsey
XAActad
P cGEY
p0csey
p0'TISEY
p S0SEY
p °0SEY
pE05EY
p C0SEY
1 0SEY
p 0°'0SEY
P '6YEY
pE6VEY
p C6VEY
L 6VEY
p0'6VEY
pS8YEY
P v'8YEY
pEBVEY
p C8YEY
T 'BVEY
p 0'8VEY
p v LYEY
pELVEY
pCLvEY
T LVEY
pO'LVEY
p SOVEY
p ' OvEY
pEOVEY
p COvEY
pL ovEY
pO'OVEY
pSSVEY
acizad
pESVEY
p C'SYEY
T SVEY
p 0'SYEY
pSYYEY
p v YVEY
pEVIEY
P CYVEY
T VeV
pO'VVEY
pSEVEY
p v EVEY
pEEVEY
pcever
pTEVEY
pOEVEY
pSCveEy
p v Cvey
pECVEY
pCevey
pTcveEY
p0'cveEYy

e dddddddddddddddddddddddddddddddddddddddddddddddddddddddd

(wdd) siny

0



[S) [S) ) ) ) 0 ~ N
~ 2] ~ o
© ~ 8 N
HooH g 3 S
°© °© 3 H H + ]
wn (2] o ~ -
0 ™ © =} -
~ w3 8 —
=) =) -
. 3 = _ = ]
[ 5] K] 5 8 © —]
g ) 5] £ |5 ] H g
c 3} o B e 5 5] 1= ]
|l & 5 &8 %« 48 = & E
= a
5 —
o B
= =
=
2 =
o oy
= -
o —
o N
- -
1 4 | |- | R I T | .
o o o o o o o
© n < o™ N —
I
N~ AN
0
~ -
[@e))
+l
o
— ey
Y—
© —_—
c
~
*<2
—~
QO
[oR
o
—~
>
£
[oX
o]
ol
(]
©
—_—
<
r_
=
o
(&)




pm8Y RMS (ppm)

corr_Adet b

Agactad
pEcsey
XAActad
P cGEY
p0csey
p0'TISEY
p S0SEY
p °0SEY
pE05EY
p C0SEY
1 0SEY
p 0°'0SEY
P '6YEY
pE6VEY
p C6VEY
L 6VEY
p0'6VEY
pS8YEY
P v'8YEY
pEBVEY
p C8YEY
T 'BVEY
p 0'8VEY
p v LYEY
pELVEY
pCLvEY
T LVEY
pO'LVEY
p SOVEY
p ' OvEY
pEOVEY
p COvEY
pL ovEY
pO'OVEY
pSSVEY
acizad
pESVEY
p C'SYEY
T SVEY
p 0'SYEY
pSYYEY
p v YVEY
pEVIEY
P CYVEY
T VeV
pO'VVEY
pSEVEY
p v EVEY
pEEVEY
pcever
pTEVEY
pOEVEY
pSCveEy
p v Cvey
pECVEY
pCevey
pTcveEY
p0'cveEYy

e dddddddddddddddddddddddddddddddddddddddddddddddddddddddd

(wdd) siny

0



lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_us_dd (ppb) 1D pull distribution
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lagr_asym_usl RMS (ppm)
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1D pull distribution

diff_bpm4eY (nm)
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diff_bpm4eY RMS (um)
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diff_bpm4aX RMS (um)
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diff_bpm4aY RMS (um)
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1D pull distribution
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1D pull distribution

diff_bpm1Y (nm)
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1D pull distribution
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1D pull distribution
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diff_bpm12X RMS (um)
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1D pull distribution
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corr_us_av

o Lo o ol o Lo
Lo < < ™ ™ N

(wdd) sny

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



corr_us_avg_bpm12X (ppb) 1D pull distribution
- X2 / ndf 70.55/56 M -0.008155 +0.1473
4000 — po —89.03 + 139.3 F o
3000 f— 14 -_ Underflow 0
2000 f— : Overflow 0
- 121 )
1000 :_ } i X2/ ndf 1177
o - I l L | I _l_ ]- _|_ | l’ . ]- 10-_ Constant 10.98 £3.29
l 1 ‘ 1 ‘ l l l l l l l i Mean -0.1138 +0.1553
1000 r Sigma 0.9301 + 0.2823
sl 9 .9301 £ 0.
2000 L

3000 — 6
4000 F— L
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII a4
o

O-Illllll |||||||||| ||II|III
8 6 4 =2 0 2 4 6 8




g_bpm12X RMS (ppm)

corr_us_av

(wdd) sy

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



1000

500

-500

corr_us_avg_bpm12Y (ppb)
X2 I ndf 47.99 /56 h
pO 86.95 + 39.82

22

20

18

16

14

12

10

1D pull distribution

Mean

Std Dev

Underflow

Overflow

X2 / ndf

Constant

Sigma

0.9174 +0.08592

16.13/7

9.088 + 2.159

0.9618 +0.1798

-0.01646 +0.1215

Mean  0.009785 + 0.188487

CJOO

) -4 -2 0 2 4

6

8




g_bpm12Y RMS (ppm)

corr_us_av

_______
Ty) =}
< <

(wdd) sny

Lo
™

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



corr_us_avg_bpm11X (ppb)

= X2/ ndf 45.08 /56 |
8000 — pO -111.8 + 318.5
6000 f—
4000 —
20003

- [11] ‘ l

° I

2000
4000

1D pull distribution

Mean 0.008457 +0.1178
161~ StdDev  0.8893 + 0.08329
L Underflow 0
14
o Overflow 0
12 B X2 / ndf 5.907/6
| Constant 12.36 + 2.61
10+ Mean  -0.07098 +0.13425
B Sigma 0.8882 + 0.1496
8 —
6 —
41
o
0 L1l | Ll | | 111 | 111 | | L1l | 11l
-8 -6 -4 -2 0 2 4 6 8




g_bpm11X RMS (ppm)

corr_us_av

(wdd) sy

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



49/6

+0.0888
+0.06279

22.86 +4.41
0.4848 + 0.0652

0.6704
-0.09703 + 0.06869

—0.004816

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

1D pull distribution

7

16

+

25.62 /56 h

45

18

X2 / ndf
0

p

g_bpm11Y (ppb)

corr_us_av

S
¥



g_bpm1lY RMS (ppm)

corr_us_av

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
1 8VEY
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey

_______
Lo
N

(wdd) sny



o o o o o n ~ o
—~ n ~ o
s ~ © =
S < © N
+ + P S 3 o
°© °© 3 H H + ]
n (2] o ~ -
woo® % 3 B
S —
o o -
. 3 =z _ ]
) = S T ] © —
W [a} Q = c m m £
c 3} o B e 5 5] 1= ]
6|l 8 5 &8 %« 8 = @ g
S ]
5 A
2 3
2 7
R e —
© e
m .
2 A
o ]
— .
Loy N bl Lo
o o o o o o o
© n < (2] N -
I
N <
L0
-’
o ©
+l
o
— ey
“—
g S
~ O
)2
Q o
pVA
o
N
x
g
S
b_
Sy
]
S_ —_—
S
a
p—
o
o
RN N s S S S i




g_bpm8X RMS (ppm)

corr_us_av

Agactad
pEcsey
XAActad
P cGEY
p0csey
p0'TISEY
p S0SEY
p °0SEY
pE05EY
p C0SEY
1 0SEY
p 0°'0SEY
P '6YEY
pE6VEY
p C6VEY
L 6VEY
p0'6VEY
pS8YEY
P v'8YEY
pEBVEY
p C8YEY
T 'BVEY
p 0'8VEY
p v LYEY
pELVEY
pCLvEY
T LVEY
pO'LVEY
p SOVEY
p ' OvEY
pEOVEY
p COvEY
pL ovEY
pO'OVEY
pSSVEY
acizad
pESVEY
p C'SYEY
T SVEY
p 0'SYEY
pSYYEY
p v YVEY
pEVIEY
P CYVEY
T VeV
pO'VVEY
pSEVEY
p v EVEY
pEEVEY
pcever
pTEVEY
pOEVEY
pSCveEy
p v Cvey
pECVEY
pCevey
pTcveEY
p0'cveEYy

e dddddddddddddddddddddddddddddddddddddddddddddddddddddddd

(wdd) siny

0



o ©o o o o W, 9~ o
- wvw ~ 9
s = B B
S < © «
+ + T =
© © 3 H H + ]
n o o o~ -
& 3 § 5 B
S —
o o -
. 3 =z _ ]
v T & B ] © —
WD o £t c m m £
c 3} o B e 5 5] 1= ]
|2 & 5 & %« 8 2 & -
S 3
= ]
2 __z
= 7
o e
© e
m .
3 ]
a ]
— .
| R | PRI B S BT | P B R R S | Lo
o o o o o o o
© n < (2] N -
I
~ o
0
-
oo
H
o
— ey
—
E R
~ O
)2
Q o
Q<
o
N
VI
g
S
b_
Sy
=
S_ R S
=]
a
p—
S
(&)
AERE R S S S e




g_bpm8Y RMS (ppm)

corr_us_av

Agactad
pEcsey
XAActad
P cGEY
p0csey
p0'TISEY
p S0SEY
p °0SEY
pE05EY
p C0SEY
1 0SEY
p 0°'0SEY
P '6YEY
pE6VEY
p C6VEY
L 6VEY
p0'6VEY
pS8YEY
P v'8YEY
pEBVEY
p C8YEY
T 'BVEY
p 0'8VEY
p v LYEY
pELVEY
pCLvEY
T LVEY
pO'LVEY
p SOVEY
p ' OvEY
pEOVEY
p COvEY
pL ovEY
pO'OVEY
pSSVEY
acizad
pESVEY
p C'SYEY
T SVEY
p 0'SYEY
pSYYEY
p v YVEY
pEVIEY
P CYVEY
T VeV
pO'VVEY
pSEVEY
p v EVEY
pEEVEY
pcever
pTEVEY
pOEVEY
pSCveEy
p v Cvey
pECVEY
pCevey
pTcveEY
p0'cveEYy

e dddddddddddddddddddddddddddddddddddddddddddddddddddddddd

(wdd) siny

0



© = S} =) [t} @ © ®
g8 3 2 < 8 5
o =1 3 +H o 5]
H mv, — Q + + ]
© - © 1] 7]
=3} fsed ~ ~ o -
g 8 S5 8
<] © = @ —
ﬂ_v o ﬁ,v o -
- & 3 _ = ]
[ T K] 5 8 © —]
§ 2 § 3 £ oz § E
[ o} b=l s > ~ S o) 2 7]
o > » > ¢} x O = ® E
=
=}
m -
] [ b
- -
2 ) —
o i
= -
o
(@) i
i .
i R AR | i IR | L L Ly o 1y 07
) © < N o < ~ o
— — — — —
[
Q™
—_—
<3
< ™
M+_
27
N~
Lo
(9
|
= —
©
c
=)
[l [oN]
Q o
pVA —_—
o
N—r
x
[3)
E
Q.
.D_ hd
°©
d_
(2]
> —_—
r_
S
@) —_—
(&)
________ 111
8 8 8 © 8 8 8
o =] o S o =1
© < N o <t [(e)




pm4eX RMS (ppm)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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corr_us_dd_bpm11X (ppb) 1D pull distribution
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corr_us_dd_bpm11Y (ppb) 1D pull distribution
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corr_usl b

260—

200

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'Svey
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



0 © o o o — (=] ©
SR S 2 8 5
3 g - 3 ~ <
g 3 Y3
© + +
+ + 3 - P
3 3 ] 8 Q2
g 4 B
g s Toe
S
z -
3 m m k=1 m ©
M [s] < b= c 17 M £
c 3 - 2 2 N 5 3 =)
o = 7] =] o < [} = n
=
=}
Qo
=
=
R
© ===
=
o
o
i
1 4 L L 1 M BT | |
=) [T} =) 0 [<) )
< ™ ® ~ 39 —
[
O© N
[Tol
NY
1m+_
— 5
N
™
i
Y—
©
c
~
N O
—~| < Q]
Qo
Q.
o
N—r
()
£
Q.
b_
)]
>
a
o —|.|-
o
(&
| | | | |
o o o o o
o o o o
n S Ire) 0
= =1 |




pm4eY RMS (ppm)

corr_usl b

[T 1

(wdd) sny

v'esey
€esey
cesey
Tesey
0'ecsey
S'0seY
'0sey
€'0sey
2'0sey
Toser
0'0sEY
v'evey
eerey
c6vey
Tevey
o'6vey
S'8veEY
v'8vey
£8rey
c8rey
T8rey
0'8veEYy
v'iveEy
A%
cLveEy
TLyvEy
0'LvEY
S'oveEY
v'ovey
eoveYy
coveEy
Tovey
oovey
S'aveEY
V'avey
earey
2'avey
T'SveEy
0'svey
SYrey
v'yvey
evrey
ey
Tyvey
0'vvey
S'EVEY
v'evey
eeveEY
ceveEy
Tevey
0EveEY
S'evey
vevey
eevey
cevey
Tevey
0evey



0'¢cveEY

g 2 3 S8 8
d [S] S =1 o
° + N = o + -
+ =l © H © 1
8 3 LI T 3
g 3 g 3 -]
=] =3 _
g ? .
> m 3 € -1
o £ o <] s © —
g [a} o} T < 17 g £ -
[ g =z E g 3 s g 35
(o) = 7] =} [e] =< o = (7] -1
= m
5 —]
£ _0J
=
- =
R - 1 ]
° T ) ]
e j
S h
o —]
o n
— m
PR T [ T T T [N T N T A S N | M BRI BRI
o [Te] o [Te) o Te] o
[32) N N i —
I -
O < .
0 o B
~ O -
% (9] n
~ + H
(0] 1
— -
— o
o
]
5 3
c
~
N =]
—~|>X
Qo
Q.
o
N
©
£
Q.
o] .
I -
(2] -
) -
—_ -
Q -
o -
°
®
" L
111 _ | T_|.|.|.I _ _@__._:_:._._ terrler
o o o o o o A
S =} S S =} n o g
© < 39 4_ A_.. o o



pm4aX RMS (ppm)
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1D pull distribution

+0.08524

-0.01597

Mean

+0.06028

0.6436

Std Dev

Underflow

Overflow

0.6548/3

X2 / ndf

17.75+2.88

Constant

-0.1354 +0.1138

Mean

+0.0880

0.7414

Sigma

AN

OIII

< o~

23.62 /56 h
-97.25

X2 / ndf

181.4
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pO

pm16X (ppb)
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+0.1174
+ 0.083
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